HS.2 (mod 11)

blocks | defect matrix blocks | defect matrix
G 1 1 11 x 10 20 0 13861 = X17,0, $17,0
2 0 221 = X2,0,$2,0 21 0 13862 = x17,1, ¥17,1
3 0 229 = X2,1, %21 22 0 14081 = x18,0, ¥18,0
4 0 771 = X3,0, ¥3,0 23 0 14082 = x18,1, P18,1
5 0 TT2 = X3,1,¥3,1 24 0 19251 = x20,0, ¥19,0
6 0 1541 = x4,0, P40 25 0 19252 = x20,1, 19,1
7 0 1542 = Xx4,1, P41 26 0 19255 = X21,0, ¥20,0
8 0 3081 = X5+, ¥5+ 27 0 19254 = x21,1, ¥20,1
9 0 2311 = X8,0, ¥8,0 28 0 27501 = X23,0, ¥22,0
10 0 2312 = X8,1, 8,1 29 0 27509 = x23,1, ¥22,1
11 0 6931 = Xx9,0, ¥9,0
12 0 6932 = X9.1, ¥9.1 2.G: 30 1 11 x 10
13 0 7701 = X10,05 ¥10,0 31 0 352 = X26+5 P24+
14 0 7702 = X10,1; ¥10,1 32 0 12321 = xo8+, P27+
15 0 1540, = X114, P11+ 33 0 1848y = X304+ P30+
16 0 8251 = X13,05 13,0 34 0 2464, = X33+ P32+
17 0 8252 = X13.1, P13.1 35 0 18482 = X36,0, 35,0
18 0 | 10561 = X16.0, ¥16.0 36=35| 0 | 18483 = x36,1, 35,1
19 0 10565 = X16,15 P16,1 37 0 3960, = X37+5 P36+
Block 1: Y10 P1,1 Pro P71 P14,0 L1410 L1500 L1510 P21,0  P21,1
Ii =x10 1 .
1o =x11 1
1751 = X17,0 1 . 1 .
1752 = X7,1 1 1 .
17921 = X14+ . 1
17501 = X19,0 1 . 1
17502 = X19,1 . 1 .
25201 = X22,0 . 1 1 .
25202 = X22,1 1 . . 1
32001 = X24,0 1 . 1 .
32002 = X24,1 1 1
w10 = 11 Y141 = 854y
v = 1g p150 = 8961
w70 = 174 v151 = 8962
907,1 = 1742 @2170 = 23461
pra0 = 854 w211 = 23469




Block 30: 23,0 ¥23,1 ¥26,0 ¥26,1 ¥$29,0 ¥29,1 ¥34,0 ¥34,1 ¥38,0 ¥38,1
561 = Xx25,0 1 .
562 = X25,1 1 . .
10001 = X32,0 1 . . 1
10002 = X32,1 1 1 .
17922 = X3570 1 .
17923 = X35,1 . . 1 . .
46081 = X39+ 1 1 . . 1 1
25203 = X41,0 . 1 1 .
25204 = X41,1 . 1 1 .

25205 = X42,0 . 1 1 .
25206 = X421 1 1
p23,0 = 961 P20,1 = 728
p23,1 = 9062 w340 = 17924
P60 = 272 w341 = 17929
p26,1 = 272 p38,0 = 2248
P00 = 128 w381 = 2248,



